XPlotter Assembly Manual

Version 1.0




10*12*15mm Self-Lubricating Bearing




5mm M2 Allen Screw

12mm M4 Standoff

Spacer

25mm M4 Allen Screw

M4 Nut

4*11mm Flange Ball
Bearing

16mm M4 Allen Screw







Lever Switch

10mm M2.5 Philips Screw

M2.5 Nut




M4 Lock Nut

4*11mm Flange Ball Bearing

15mm M4 Standoff Spacer

6mm M4 Standoff Spacer A/ﬂ ﬂ\’

30mm M4 Allen Screw

22mm M4 Allen Screw

Notice: Don’t tighten the screw

8mm M4 Allen Screw




5mm M3 Allen Screw

Notice: Don’t tighten the screw

4mm M3 Grub Screw




After assembling linear motion rods. Adjust rods by

moving the slide block round until the movement
10mm M4  Allen Screw

(Don’t tighten the screw)

become smooth. Then tighten all the screws.

20mm M3 Allen Screw 16mm M3 Allen Screw

M3 spacer

Notice: Please make sure the tightness of two belts are the same.







Notice: Add double sided foam tape

5mm M3 Allen Screw

10mm M4 Allen Screw




10\

5mm M3 Allen Screw

8mm M3 Standoff Spacer

5mm M3 Allen Screw




11,

M2 Nut
/

% @/ 4+4mm M2 Male-Female Spacer

4mm M2 Philips Screw




12,

5mm M2 Allen Screw

Air Tube Connector




13\

Before locking the screws, please plug wires and
tube and do not bend the tube!

V 5mm M3 Allen Screw




14,

10mm M3 Socket Allen Screw




15.

Adjust servo to 90 degree before assembly.




16\

5mm M2 Allen Screw

M2 Nut

5mm M2 Allen Screw




17.

5mm M3 Allen Screw

5mm M2 Allen Screw




18\

5mm M3 Allen Screw




19\

5mm M3 Allen Screw




20\

Assemble Housing

5mm M3 Allen Screw










	XPlotter Assembly Manual

